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. page 13, line 5, “(J;_; AS implies” should be “(J;_, AS € A implies”.
2. Page 21, line 2, “n € N” should be “n > 1” since the denominator should not be 0.
3. Page 22, line -8, “or not a field” is better to be “or not a o—field”.
4. Page 25, line -1, “Find B(C)” is better to be “Find o(C)”.
5. Page 30, line 10, “PA + PB” should be “P(A) + P(B)”.
6. Page 32, line 6, “PA,, | PA” is better to be “P(A4,) | P(A)”.
7. Page 63, line -5, “P(AAB)” should be “P(A.AB)".
8. Page 67, line -5, “If A,, € A and A,, | 0” should be “If A, € A and A, | 0”.
9. Page 69, line 14, “01 N0 < x,01 A Oy < y” is better to be “01 Ay > x,01 ANy < 7.
10. Page 100, line 4, “+55}” should be “—551}".
11. Page 103, line 13, “P(limsup,,_, . [X» = 1])” is better to be “P((limsup,,_, . [X, = 1])¢)”.
12. Page 116, line -13, “Show limsup,,_,., Bn # 0” should be “Show P[limsup,,_,., By] > 07.
13. Page 116, line -12, “sequence of independent Bernoulli” should be “sequence of iid Bernoulli”.
14. Page 122, line -9, “lim,,—,o, E(Y;,)” should be “limy, oo E(Ym)”.
15. Page 131, line -8, “variable for n > 1” should be “variable for 5 > 1”.
16. Page 144, line -12, the first “limy, oo (Xy)w,” should be “(limy oo Xy),,”-
17. Page 161, line 8, “%P(s)” should be “%P(s)”.
18. Page 166, line 1, one “}” right to “{ N(A,w), A € B(R?)” is missing.

19. Page 170, line -10, “lim,,—,~ P[|X,, — X| > €]” is better to be “limsup,,_,, P[| X, — X| > €]”
since we don’t know if the limit exists yet.

20. Page 181, line -2, “from Chebychev’s inequality” should be “from Markov’s inequality”.

21. Page 196, line 2, «® ., 527 should be “% 027,

22. Page 209, line -13, “c = \/,.y P[|S;| > a]” should be “c =V, y_; P[[S;| > a]”.
23. Page 209, line -9, “as (S1,...,Sn)” should be “as (Si,...,Sn-1)".

24. Page 217, line -8, “if > A,t < 07 should be “if > A1 < o0”.
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Page 221, line -2, “by Kronecker’s lemma” is better to be “by Corollary 7.4.1”.

Page 224-225, there are five “x,,” which should be “z, ", and one “z1;” should be “xy;”.
Page 236, line -11, “L 3" | ¢;X;” should be “1 > =16 X5

Page 261, line 9, “E'h(x)” should be “Eh(Xp)”.

Page 261, line 11, “X2 — X2” should be “X2 = X2”.

Page 279, line 1, “exp{—(z)“} should be “exp{—|z|*}” or “exp{—(—x)*}".

Page 284, line -8, “Let F' be a non-degenerate df’ should be “Let F' be a non-degenerate
proper df”.

Page 286, line -12, “G¢(a(t)x + a(t))” should be “Gi(a(t)x + 5(t))”.
Page 303, line 10, “ff;oz n(0,072,2)dz” should be “ffo_oz n(0,072,5)ds”.

Page 320, line 5, “We know from Chapter 8 that” is better to be “We know from Proposition
7.4.1 that”.

Page 322, line -1, “Y,, = an[\Xn\S\/nT” should be “Y,, = Xﬂ1[|Xn|§\/ﬁlogn]”'

Page 372, line -5, “Yp = 11jg<,,] is better to be “Yp =1 1jg<,,)".

Page 375, line -12, “{(EX|B,,), By,n € N}” should be “{E(X|B,), Bp,n € N}”.

Page 400, line -8, “= (X2 + o(1))” should be “= (Z% + o(1))”.

Page 423, line -8, “(ii")}" cq VN (¢)(w) = 0”7 should be “(ii")>" cq A(w)Vn(¢)(w) = 07.
Page 433, Exercise 22, need to assume “Xgy € Iy”.

Page 434, line 12, “{(X,, = kL, (Y,),o(Yo,...,Yn),n > 0}”
should be Xy =kLp(Yn),0(Yo,...,Y,),n > 1} because Ly(Y)) is not defined.

Page 434, Exercise 27, need to assume “€ € By,”.

Page 436, Exercise 35, need to assume “§, € L1”.

Page 436, Exercise 36, line 2, “n € N” should be “n € N” because v = oo is possible.

Page 440, line 2, “{Y,,n > 1} should be “{Y,,,n > 0}”.

Page 441, Exercise 56, line 7, “TI(Viy(¢)) = I1(Vo(¢))” should be “II(Viy (¢)) = T(Vo(¢)S')”.

Page 441, Exercise 56, part (ii), need to assume “H(S](\(,))) =1".



